Answer booklet
Who knows best

Question | Answer Mark | Comment

1 muzzle 1

2 To make sure that the beagle is visible when | 1 Inference to do with being
his nose is on the ground seen whilst hunting

3 By using arrows to the identified parts of the | 1 Inference about splitting up
dog, labels also help explain what each is information and directing to
called, the information is placed into sections the actual parts of the animal.
under the heading.

4 Tricoloured means when the dog has three 2 Take inference from 3
different colours such as black, white and meaning tri, any combinations
orange. of colours mentioned in text

such as lemon.

5 Males are 40cm high, females 25 cm high so | 1 Do not accept the 40 or
a difference of 15cm 25cm, needs to show working

out from the 2 amounts

6 By talking about the duty of care to walk 1 Take the inference from the
their dogs at least once per day, that the emotive language and the
whole family can join in, that adults can also repetition of the need to walk
be fitter by walking their dogs for at least 30 dogs.
minutes a day. Constant repetition, shows
the importance.

7 Overtire and lead to damaging developing 1
joints

8 That the government recommends adults should | 1
exercise for at least 30 minutes each day and
that by walking their dog the whole family will
keep fit too.

q The lines are to show you which section belong to | 1
which box of text. So you know what the
information is about.

10 - Even tempered 2 Any 2 of the list

- Not aggressive nor timid
- Friendly
- Loyal
- Sociable
- Cheerful
- stubborn
11 - not leave their mothers till 8 weeks 3 Any 3 of the list

- Fed several small meals

- Fresh water

- Regular vaccinations, worming

- Train your puppy to go to the toilet in
the correct place

- Give them something they are allowed to
chew.




